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Note that all questions are to be answered. Good luck!

A. Read the following text carefully and answer the questions (you do not have to translate it!).

Litlu &0r hafdi jarl tekit konu manns pess er Brynjdlfr hét, ok var pat verk allmjok Upokkat, ok var pa
vid sjalft at herr myndi upp hlaupa. Eptir orbodi hljop upp magi manns ok sétti til Medalhtsa. En jarl
fekk njosn ok for af benum med 1id sitt ok i dal djupan, pann er nu er kalladr Jarlsdalr sidan, ok
leyndusk peir par. Eptir um daginn hafdi jarl njosn allt af bondaherinum. Béndr toku vegu alla ok
&tludu helzt at jarl myndi hafa farit til skipa sinna, en fyrir skipunum réd pa Erlendr, sonr hans, inn
mannveensti madr. En er nattadi, dreifdi jarl lidinu ok bad fara markleidi ut til Orkadals — ”engi madr
mun yor mein gera, ef ek em hvergi i ndnd. Gerid ord Erlendi, at hann fari Ut eptir firdinum, ok
hittumk vit & Méri. Ek mun vel fa leynt mér fyrir bondum.”

1. The phrase i dal djupan in “En jarl fekk njosn ok for af bgnum med 1id sitt ok i dal djapan, pann er
na er kalladr Jarlsdalr sidan” needs some explanation. Spend some time on this question!

a. Describe the word form dal in gender, number and case.

b. The case of the word form is related to the grammatical context. Explain the syntactic function
of the phrase i dal djupan.

c. Explain the relations between the pronoun pann and a) i djupan dal and b) er nu er kalladr
Jarlsdalr.

2. There are both strong and weak verbs in the text and there are some examples of irregular verbs.

a. Give examples of two strong and two weak verbs from the text. Give the infinite (lexical)
form.

b. The strong verbs differ significantly from the weak verbs. Present the main difference in the
inflexion paradigms between strong and weak verbs.

c. The infinitive hlaupa (l. 2) is followed by a finite form of the same verb, hljop (I. 2). With the
help of these two forms you can present the inflections in present and past tense indicative of
this verb.

d. Munu is a preterite present verb. In the text it is represented four times. Describe the four
occurances according to number, person, tense and mode.
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B. Translate the following text to English or Norwegian.

Reginn gerir nu eitt sverd; ok er hann bar or aflinum, syndisk smidjusveinum, sem eldar
brynni ér eggjunum; bidr na Sigurd vid taka sverdinu ok kvezk eigi kunna sverd at gera, ef
pbetta bilar. Sigurdr hjo i stedjann ok klauf nidr i fotinn, ok brast né brotnadi; hann lofadi
sverdit mjok ok for til arinnar med ullarlagd ok kastar i gegn straumi, ok tok i sundr, er hann
bra vid sverdinu; gekk sigurdr pa gladr heim.



C. Make a prose translation of this stanza into English or Norwegian.

Reidr var pa Vingporr
er hann vaknadi

ok sins hamars

um saknadi,

skegg nam at hrista
skor nam at dyja,

réd Jardar burr

um at preifask

D. Point out the characteristics of this text which distinguish it from the texts A and B
that you have worked with above.



